1. o= J"eA x o dol ?

A O A WH =49 TS
AH=BH=3
x2=32+4+922 - x=+13
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29 FHoN A 3em BolA G @] Aol7t sem A u, ©] A
Holk?

D) 257 cm? @ 287 cm? ® 327 cm?

@ 367 cm? ® 387cm?

dH A AH = 4(cm) O|BER r =
V32 + 42 = 5(cm)

m2tA, ¥ 0 9 Wols 7 x5 =
25n( cm?)
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(A =90° °| B2
102 = x2 + 42, x=2+21

et A APAO:%XZ\/2_1X4:4\/ﬁ°]‘:}.




2 1o PA, PBE= Y0 9 H A
Aolct, o] wf, xy o] 72 g

@ 33 @ 40 ® 45

@ 50 @55

B ‘

AP=BP =x
8% =32+ x?
x=VB5=y

s xy = Vb5 x V55 =55




O T13olA ¥ O = AABC 2] U] A D, E, F

Aol

AB=4,AC=5AE=7 9 1, BC 9 Zol2 Faolal,

i

vV V
02
o
o

BC =BD +CD
BC=BF+CE=3+2=5




7.

e 2389 ¥ O°llA x o] dolE F5tofzt.

BF=BD=2°22 CE=CF=x-2
AE=ADOIBER2 10=7+(x-2) ~x=5




the 1Y 2ol FAlo] 2L & Ao A OP 7}
L% 9 ¢

@D 13cm @ 14cm ® 15cm @16cm

2o 3t gt

PQ 7t 2e 93 Bt He T e s,

® 17cm

OT = 6(cm) ©]2 /OTP = 90° o] & PT =
V100 - 36 = V64 = 8(cm) ©]tt.
w2tA PQ = 2 x 8 = 16(cm) ©]th.

102 - 6% =




9. o I¥a}t o] 2]E9 ZAo7F 30 ¢l ¥ O o4 ABLCM, CM = 6
A o, & AB 9] Zol&?

AN

O 12 @ 16 @24 @ 34 ® 36

OB =15 OM =9 °o|2&

AOBM A BM = V152 - 92 = 12
BM = AM °|2&
AB=2x12=24




10. & o)A ABLOC , AD = 5cm , CD = 3cm € o, OB 9
Zol| g Folofet,

A B
NaetP S

C

OB=x&3lH OD=x-30°]1
AD =DB =5 (cm) °|t}. (-~ ABLOD)

wrabA, x2 = 52 4 (x - 3)°
X =254+x>-6x+9
17

6x = 34 Lx= (cm)




® 487 cm? @497 cm? ® 50m cm?

r2 = (2V6)% + (r - 2)?

rP=24+r>—4r+4

4r = 28

r=17 (cm)

whebA] 4] Hol= ax 72 = 497 (em?) ©]th




12. o2 2™ ¢ 0 94 ABLOM, CDLON ©]i1 OM = ON =

5cm, AM = 7em 9 o], CD 9] Zo]& slaizt,

AB1OM ©|H AB = 2AM = 2 x 7 = 14(cm) ]2 OM = ON
o]E22 CD = AB = 14(cm) ©]t}.




13. o I"ofA 9 O &= AABC 9] ¥ A
o]i7, OM = ON, /M = /N = /H
90°, «NOH = 110° & o, A ] 77]
T-oh?

@® 30° @)40° ® 50° @ 60° ® 70°

OM =ON 0|22 AB = AC

utebA] /B = /C o]t
£C=360°-(90°+90°+110°) = 70°
S /A =180°-T70°%x2=40°




14. ohg 284 A% Ruel Yolg

P37

D %”CHP @ ?lﬂ'ch
27, ,

@ Zﬂcm @ 21mecm

2} B & A LAOB = 150° 0| B &
ARt RAES] F472F LAOB = 210°
210°
360°

= 21n(cm?)




15.

th2 1o PA, PBE=Y 0 9 HA10]1 OP = 17cm, OA = 8cm
A o, AOPB 9] Hol& stofe}

e
~\/

B
>
> HehD 60 cm?

PA = V172 - 82 = 15(cm)

- 1
PA = PB°|2& AOPB = 15 x 8 X 5= 60( cm?)




16. o 19lA4 PA,PB+ 9 0O 2 3410]1 OP = 9cm , OA = 5em
< o, AOPB 9 Hol=?

L
~/

B

D 5+7cm? @BVﬁch ® 5\éﬁcnf
@ 2+14cm? ® 10V7cm?

OA = OB = 5cm ©]1, OBLPB °©|2& AOPB = 2442+
o|tt.
PA = V92 - 52 = 2+/14(cm)

DA — PBolE= AOPB:2\/ﬁx5x%=5\/ﬁ(cm2)
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17. th& 192 9 0 o4 PA,PB & HAolx, % & A, B FHolek.
/OAB = 20° ¢ o, /APB ¢] =277

==

®3° @i @ @50 O

(PAO = /PBO = 90° , /PAB = 90° — 20° = 70°
APAB & o] 5HAZP o] 2 E /APB = 180° — (70° x 2) = 40°




18.

o} 7oA PTE= 9 0 o] FAo|x A
T = HAHolth, PT = 8cm, PA = 4cm
A o, ¥ O 9 Hol=?

@ 24n cm? @ 367 cm?
® 497 cm? @ 60mcm?
® 657 cm?

B

RO = TO = r o[z} 1@, OP° = PT + OT o] 9]35}¢]
(r+4)?%=64+r2

.r==6

wtebA] 9] Yol a2 = 367 cm? o]t




